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One of these is different from others:

(1) Peripatus

(2) Archaeopteryx
(3) Protopterus
(4) Neopilina

Correctly matched set is:

(1) Manis-spiny ant-eater

(2) Pennatula-sea pen

(3) Antedon-sea cucumber
(4) Octopus-Squid

Coelom derived from blastocoel is known as:

(1) Haemocoel
(2) Schizocoel
(3) Enterocoel
(4) Pseudocoel

Females of which worm are viviparous:
(1) Ascaris

(2) Pinworm

(3) Hookworm

(4) Filarial worm

Which soil structure is suitable for crop growth:

(2) Platy
(4) Granular

(1) Laminar
(3) Columnar

Cake in which highest amount of nitrogen is present:

(1) Neem cake
(3) Ground nut cake

(2) Castor cake
(4) Linseed cake

Pungency in onion bulb is due to:
(1) Allyl propy! disulphide

(2) Capsaicin

(3) Curcumin

(4) None of these

Pungency in chillies is due to:
(1) Capsaicin

(2) Solanin

(3) lIsothiocyanates

(4) None of these

Haemoglobin is found dissolved in the plasma of:

(1) Cockroach (2) Rabbit
(3) Earthworm (4) Frog

Dicondylic skull is found in:

(1) Amphibians

(2) Reptiles

(3) Aves

(4) Amphibians and mammals
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Which organ is called the grave yard of RBCs:
(1) Liver

(2) Spleen

(3) Kidney

(4) Pancreas

Transitional epithelium is found in:

(1) Urinary bladder
(2) Heart

(3) Intestine

(4) Skin

Which crop is heavily affected by powdery mildew:

(1) Onion (2) Okra
(3) Peas (4) Cabbage

Which vegetable is grown by transplanting seedlings:

(1) Muskmelon (2) Cabbage

(3) Carrot (4) Radish
Which one is cucurbit:

(1) Pea (2) Okra

(3) Bottle gourd (4) Carrot

Which one is cole-crop:

(1) Knol-khol
(2) Muskmelon
(3) Sweet potato
(4) Radish

Tectorial membrane is found in:

(1) Eye of frog

(2) Eye of Mammals
(3) Ear of Mammals

(4) Cochlea of Mammals

Which one of following is not a pancreatic enzyme:

(1) Trypsin

(2) Amylase

(3) Isomaltase
(4) Chymotrypsin

Bile salts contribute to:

(1) Emulsification of fats
(2) Digestion of fats

(3) Absorption of fats
(4) All of these

Ureais produced in animals by breakdown of:

(1) Proteins
(2) Nucleic acids
(3) Uric acid
(4) Purines
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Family of sweet potato is:

(1) Convolvulaceae
(3) Umbelliferae

(2) Cucurbitaceae
(4) Cruciferae

Botanically Banana fruit is:

(1) Nut (2) Pome
(3) Berry (4) Drup

Raphanus sativas L is the botanical name of:

(1) Turnip (2) Radish
(3) Carrot (4) None of these

A important distinguishing character of the class
insecta is:

(1) Joint appendages
(3) Six legs

(2) Compound eyes
(4) All of these

Autonomic nervous system is a kind of:

(1) Motor nervous system
(2) Sensory nervous system
(3) Somatic nervous system
(4) Central nervous system

Post-ganglionic parasympathetic neurons release:

(1) Acetylcholine

(2) Nor-epinephrine

(3) Gastrin

(4) Acetylcholine and nor-epinephrine both

Gemmules are formed for:

(1) Asexual reproduction
(2) Sexual reproduction
(3) Parthenogenesis
(4) Digestion

One of the distinguishing features of mammals is:

1)
)
®3)
4

Hair

Pinna
Four-chambered heart
Diaphragm

Plasma membrane:

(1) Provides mechanical support to protoplasm

(2) Check the entry or exit of undesirable substances
(3) Delimits the protoplasm from exterior

(4) All of these

Nucleic acids are:

(1)
@)
@)
(4)

Micro molecular compounds

Macro molecular compounds

Micro and macro molecular compounds
Non-molecular compounds
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Silk is the secretion of:

(1) Salivary glands
(3) Abdominal glands

(2) Thoracic glands
(4) None of these

Bile secreting part is:

(1) Pancreas
(3) Spleen

(2) Liver
(4) Gall bladder

RIBOSOMES are made up of:

(1) RNA and DNA
(2) DNA and Protein
(3) RNA and Protein
(4) DNA alone

Which of the following is the smallest RNA:

(1) Messenger RNA
(2) Ribosomal RNA
(3) Transfer RNA

(4) Chromosomal RNA

Which of the following is capable of self replication:

(1) Anenzyme

(2) A carbohydrate molecule
(3) Water molecule

(4) Nucleic acid

Karyokinesis means division of:

(1) Cytoplasm into two
(2) Nucleus into two
(3) Protoplasm into two
(4) None of these

Functional unit of mammalian kidney are:

(1) Uretor (2) Renal duct
(3) Seminal duct (4) All of these

Viruses are living because:

(1) It grows

(2) It multiplies in living cells

(3) It contains metabolic enzymes
(4) It respires like living ones

A true fruit is developed:

(1) From thalamus
(2) From nucellus
(3) From ovary
(4) From ovule

Meiotic division takes place in:

(1) Leaf
(2) Anther
(3) Stem
(4) Root
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170.

The greatest source of variations is brought about by:

(1) Mutation

(2) Chromosomal aberrations
(3) Meiosis

(4) Poly ploidy

Allele is the:

(1) Alternate trait of a gene pair

(2) Total number of genes for a trait

(3) Total number of chromosome of a haploid set

(4) Total number of genes present on a chromosome

Which is not aroot:

(1) Potato
(3) Sweet Potato

(2) Carrot
(4) Raddish

Stilt roots are found in:

(1) Rice (2) Sugarcane

(3) Groundnut (4) Gram
Mulberry fruit is:
(1) Sorosis (2) Drupe

(3) False fruit (4) Syconus

Photosynthesis takes place in green plants:

(1) Mitochondria (2) Chloroplast
(3) Ribosome (4) Nucleus

Air cavity is present in:

)
()
©)
(4)

Lithophytes
Xerophytes
Hydrophytes
Mesophytes

Short day plant is:

(1) Tomato
(2) Pepper
(3) Soybean
(4) Sunflower

When the anthers are fused together forming a tube
and filaments are free, this condition is termed as:

@)
)
®)
4

Monoadelphous
Syngenesious
Synandrous
Gynandrous

In a homozygous plants self pollination:

(1) Yields progeny which are not variable

(2) Yields progeny which are highly variable

(3) Is never possible

(4) Is generally overcome by various adaptation
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171. Apomixis in plant means development of a plant: 171. N F Srqisor B FREE S & N H IERn:

(1) From stem cuttings 1) T B FaE q
(2) From root cuttings (2) S B HAH 9
(3) Without fusion of gametes (3) gmﬁ 3 & 99 9
(4) From fusion of gametes 4 g;q—,ﬁ 3 IO 9
172. False fruit develops from: 172. OF FTHA Raftfq aar ®:
(1) Ovary (1) oEEE |
(2) Parthogenetic seed (2) INY® FWa & |
(3) Thalamus (3) e 4
(4) None of these (4) ST ¥ 9 fra § 7@
173. The inflorescence of barley is: 173. &t RAsER) B &
(1) Cymose (2) Racemose (1) wEmEt (2) oTefiER
(3) Compound (4) Special (3) HFw (4) fafie
174. The family of mustard is: 174. LG B FW &
(1) Malvaceae (2) Cruciferae (1) HAraE (2) FABY
(3) Cucurbitaceae (4) Leguminosae (3) Wﬁ%ﬂeﬁ (4) ariﬁzﬁ-é’r
175. The coriander flower is: 175. f@r # bl &
(1) Capitulum (2) Spadix 1) Hfrged (2) Afzm
(3) Catkin (4) Umbel (3) FefrT (4) e
176. Oryza sativa is the botanical name of: 176. M Eﬂj IEEi® W &
(1) Potato (2) Tomato (1) o (2) THIX I
(3) Rice (4) Maize (3) € &1 (4) HeBr @l
177. Dry indehiscent one seeded fruit derived from inferior 177. % STERE TF Sioieal o TR fEored srewm @
bicarpellary ovary is known as: faim S ®, weamn &
(1) Cypsela (1) e
(2) Nut @ =
(3) Cremocarp (3) Y
(4) Legume (%) R
178. Edible part of litchi fruit is: 178. S %A § @GET T AW /OT S &
(1) Mesoderm (1) HreeH
(2) Cotyledons (2) o=
(3) Endosperm (3) ?i"TCﬁﬁ[
(4) Fleshy aril (4) HEd oA
179. Basal cell of ulothrix is devoid of: 179. R ey AfRE § @ & &
(1) Nucleus (1) F=®
(2) Chlorophyll (2) ofefm
(3) Chloroplast (3) BRa &
(4) Pyrenoid (4) TEEs
180. Bacteriophage consists of: 180. GﬂﬂT‘{Eﬁﬁﬁ S 2 @
(1) Carbon and Nitrogen 1) FET qr "-TI%'@T*H q
(2) DNA (2 .. T ¥
(3) Nucleoprotein (3) R’iﬁﬁ?ﬁ o= 9
(4) Proteins only (4) Fad AT 9
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182.

183.

184.

185.

186.

187.

188.

189.

190.

Number of stamens in green gram is:
(1 5 2 8

(3) 10 (4) 12
Pitcher plant is:

(1) Parasitic
(3) Autorophic

(2) Symbiont
(4) Insectivorus

The division of nucleus is known as:
(1) Cytokinesis

(2) Karyokinesis

(3) Anaphase

(4) Metaphase

During mitosis, the centromere divides at:

(2) Metaphase
(4) Telophase

(1) Prophase
(3) Anaphase

Most primitive living vascular plants are:

(1) Spnagnum
(2) Cycads
(3) Brown algae
(4) Ferns

Movement of plants are not affected by:

(1) Water

(2) Temperature
(3) Light

(4) Chemicals

Dispersal of seeds by wind is known as:

(1) Anemochory
(2) Zoochory
(3) Autochory
(4) Hydrochory

Secondary growth does not occur in:

(1) Dicot plants
(2) Monocot plants
(3) Gymnosperm
(4) All of these

Which of the following is food poisoning organism:

(1) Lacto bacillus
(2) Clostridium botulinum
(3) Streptomyces fecalis
(4) None of these

In rice grain the endosperm is the:

(1) Fatty portion

(2) Starchy portion
(3) Protein portion
(4) None of these
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192.

193.

194.

195.

196.

197.

198.

199.

200.

Crop in which upper root portion is used in seed
production:
(1) Onion
(3) Ginger

(2) Turnip
(4) Turmeric

Crop infected by Kernal bunt is:

(1) Maize (2) Gram
(3) Wheat (4) Paddy

When xylem and phloem form seperate bundles, they
are called:

(1) Radial vascular bundle

(2) Collatral vascular bundle
(3) Concentric vascular bundle
(4) Bicollateral vascular bundle

Cambium is more active during:

(1) Winter
(2) Autumn
(3) Spring
(4) Uniform throughout the year

Agar is obtained from:

(1) Red algae

(2) Green algae

(3) Brown algae

(4) Blue-green algae

Reserve food material of green algae is:

(1) Protein
(3) Starch

(2) Glycogen
(4) Qils
Amphibians and reptiles are studied under branch:

(1) Icthyology
(3) Entomology

(2) Herpetology
(4) Saurology

A plant which is adapted to an environment deficient
in moisture is called as:
(1) Halophyte
(3) Xerophyte

(2) Hydrophyte
(4) Pteridophyte

In plant, the green pigments capture light energy by a
functional process called:

(1)
@
®)
(4)

Photolysis
Photosynthesis
Phototropism
Photoperiodism

The red colour in ripe tomato and red pepper is due to:

(1) Carotene
(2) Xanthophyll
(3) Lycopene
(4) Attropene
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201.

202.

203.

204.

205.

206.

207.

208.

2009.

210.

Cell wall of bacteria is made up of:

(1) Cellulose

(2) Pectin

(3) Peptidoglycon
(4) Chitin

Which of the following is not found in Rhizopus:

(1) Sporangia
(2) Rhizoids
(3) Columella
(4) Setae

Development of sporephyte
gametophytic tissue is called:

directly from

(1) Apogamy
(2) Apospory
(3) Apomixis
(4) Parthenogenesis

Corymbose inflorescence is found in:

(1) Compositae
(2) Cruciferae
(3) Solanaceae
(4) Apocyanaceae

Which is a C4 plant:

(1) Paddy
(3) Peanut

(2) Pea
(4) Jowar

Which crop have relatively higher requirement of
sulphur:

(1) Cereals
(3) Oilseed crops

(2) Legumes
(4) Sugar crops
In which plant, aerenchyma cells are found:

(2) Rice
(4) Cotton

(1) Berseem
(3) Oats

Potato plant belongs to which family:
(1) Graminae

(2) Compositeae

(3) Solanaceae

(4) Malvaceae

Fruit of compositae is:

(1) Berry
(3) Drupe

(2) Cypsella
(4) Capsule

Fibre derived from seed coat is:

(1) Caoir
(2) Flax
(3) Cotton
(4) Hemp
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211.

212.

213.

214.

215.

216.

217.

218.

2109.

220.

Which type of soil water is absorbed by root hairs of 211. {8 TR # el St at B g I BN AN far St

plants:

(1) Hygroscopic water
(2) Capillary water
(3) Gravitational water
(4) All of these

If a cell looses water when placed in a solution, the
solution is:

(1) Hypotonic
(3) Hypertonic

(2) Saturated
(4) Weak

Which element induces disease tolerance in plants
(1) N (2 s

(3) Ca 4 K

Plants tolerant to high salinity conditions are called:

(1) Halophytes (2) Hydrophytes
(3) Helioplytes (4) Xerophytes

Rice inflorescence is known as:

(1) Spike (2) Ear
(3) Panicle (4) Floret

Pyrilla belongs to:

(1) Pyralidae
(3) Cicadellidae

(2) Fulgoridae
(4) Jassidae

Nitrogen is available for plants in the form of:

(1) Nitrogen gas
(2) Nitrogen dioxide
(3) Nitrate

(4) Nitric acid

Guard cells differ from epidermal cells in having:

(1) Cell wall
(2) Mitochondria
(3) Chloroplost
(4) Vacuoles

Plant hormone responsible for cell division is:

(1) Auxin

(2) Cytokinin
(3) Gibberellin
(4) Abscicic acid

Which is true for pteridophytes:

(1) Secondary growth takes place
(2) Heterospory occur in all cases
(3) Gametophyte dominant phase
(4) Phloem lacks companion cell
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221.

222.

223.

224.

225.

226.

227.

228.

229.

230.

Predators of plants can be called as:

(1) Herbivores
(3) Stem borer

(2) Sap suckers
(4) Defoliator

Which one of the following is major disease of onion in
India:

(1) Leaf blight
(3) Purple blotch

(2) Smut
(4) White rot
A stem vegetable is:

(1) Carrot
(3) Sweet potato

(2) Knol-khol
(4) Radish

Which one of the following vegetables is a monocot:

(1) Cabbage (2) Onion
(3) Okra (4) Musk melon

In cycas the pollen grains at the time of pollination
attains:

(1) One celled stage
(2) Two celled stage
(3) Three celled stage
(4) Four celled stage

Smooth endoplasmic reticulum (SER) is involved in:

@)
)
(©)
(4)

Protein synthesis
Glucose synthesis
Fat synthesis
Enzyme synthesis

When a cross is made between F; offspring and its
parent, It is known as:

(1) Reciprocal cross
(2) Back cross

(3) Test cross

(4) Dihybrid cross

Ergot is an important disease of:

(1) Wheat (2) Sorghum
(3) Pearlmillet (4) Maize

Which one of the cucurbits flowers in the evening:

@)
(2)
©)
(4)

Sponge gourd
Bitter gourd
Bottle gourd
Musk melon

Which one of the following vegetables is acidic in
nature:

(1) Chilli

(2) Tomato
(3) Brinjal

(4) Musk melon
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231.

232.

233.

234,

235.

236.

237.

238.

2309.

240.

Greening of potato results in:

(1)
@)
®)
(4)

Increase in nutritional quality
Decrease in nutritional quality
Increase in disease resistance
Decrease in disease resistance

‘Whip tail’ disease in brassica is due to:

1)
)
®)
4

Nematode
Mechanical injury
Herbicidal toxicity
Deficiency of Mo

Crop heavily infested with phalaris minor is:

(1) Paddy
(3) Berseem

(2) Sugarcane
(4) Wheat

Khaira disease of paddy is due to deficiency of:

(1) Iron (2) Zinc
(3) Copper (4) Molybdenum

Which of the following elements is not essential but
beneficial for plant growth:

(2) Iron

(4) Calcium

(1) Manganese
(3) Sodium

Scientific name of potato is:

(1) Oryza sativa

(2) Hordeum vulgare
(3) Solanum tubersosum
(4) Arachis hypogaea

The stem above the ground in bananais known as:

(1) Rhizome
(2) Pseudostem
(3) Sucker
(4) None of these

‘Little leaf’ disease of brinjal is caused by:

(1) Nematode
(2) Mycoplasma
(3) Viroid

(4) Bacterium

Browning in cauliflower is due to:

@
)
®)
(4)

Boron deficiency
Nitrogen deficiency
Excess of boron
Molybdenum deficiency

‘Calcium carbide’ coming in contact with moisture
releases:

(1) Acetylene
(3) Phosphine

(2) Ethylene
(4) Chlorine
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